
Umrechnung vom/ins Dual-/Hexadezimalsystem
(Knoppers Rechenweg)

Dualsystem:

Stelle 210 29 28 27 26 25 24 23 22 21 20

Wert 1024 512 256 128 64 32 16 8 4 2 1

58510 = 1*512 + 0*256 + 0*128 + 1*64 + 0*32 + 0*16 + 1*8 + 0*4 + 0*2 + 1*1
= 10010010012

14210 = 100011102 

Kontrolle: 0*1+1*2+1*4+1*8+0*16+0*32+0*64+1*128 = 142

1100110012 = 1*256+1*128+0*64+0*32+1*16+1*8+0*4+0*2+1*1 = 40910

101011012 = 1*128+0*64+1*32+0*16+1*8+1*4+0*2+1*1 = 17310

 

Hexadezimalsystem

(1010=A16, 1110=B16, 1210=C16, 1310=D16, 1410=E16, 1510=F16)

Stelle 164 163 162 161 160

Wert 65536 4096 256 16 1

58510 = 2*256 + 4*16 + 9*1 = 24916

14210 = 8*16 + 14*1 = 8E16

85C16 = 8*256 + 5*16 + 12*1 = 214010

B7016 = 11*256 + 7*16 + 0*1 = 292810


